Time: 40 Minutes Paper Math 2 Total Marks: 25

4th Month, 4th Week, 6th Day [Syllabus: Revision Test.

Q.1. Choose the correct option and fill in the blanks. (1.5%6=9)
ULl S B R s

(i) The height of a tree is measured in
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(a) |Millilitres /ﬁd’ (b) [Litres Jﬁ (c) |Kilograms /U/}( (d) [Metres A

(ii) The standard unit of capacity is
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(a) |Metre | o) |Litre Al@©|Gram | @) Kilogramr'/;K

(iii) The symbol of kilogram is . - J/ (r’/:g

(@) g ) m/ © kg @ m

(iv) The length of short object is measured in

Y S % | 011
(a) [Millimtres /ﬂd’ (b) Centimetres]}"ftj‘:c (c) |Grams ]'/( (d) [Metres i

(v) Kilogram is standard unit of

@) |Length  JU|@)|Width  $122 o) |Capacity | @) [Mass Ul
(vi) The symbol of metre is . -‘ng( 13

(@) g (b) ! © m @ kg
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Q.2. Solve the following. (2.5%4=10) IS sts
i 59 ml i) 67 g
+ 29 ml/ + 13 g
(i) 77 kg v 91 m
- 58 kg - 22 m

Q.3. The length of red wire is 90m while the length of a yellow wire is 72m.

Which wire is longer and how much? ©)
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